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1. The dimensions of a metallic cuboid are 100cmx 80cmx64cm.It is melted and recast in to a cube. Find the surface area of the cube.

2. A cube of 9 cm edge is immersed completely in a rectangular vessel containing water. If the dimensions of the base are 15cm and 12 cm, find the rise in water level in the vessel.

3. Three cubes whose edges measure 3 cm; 4cm and 5cm respectively are melted together to form a single cube. Find its edge and the surface area.

4. A room is half as long again as it is broad. The cost of carpeting the room at Rs.3.25 per m2 is Rs.178.50 and the cost of papering the walls at Rs.1.40 per m2 is Rs.240.80.If 1 door and 2 windows occupy 8 m2, find the dimensions of the room.

5. The cost of papering four walls of a room at 70 paise per square meter is Rs.157.50.The height of the room is 5 metres. Find the length and breadth of the room if they are in the ratio 4:1

6. A circus tent is made of canvas and is in the form of a right circular cylinder and a right circular cone above it. The diameter and height of the cylindrical part of the tent are 126m and 5m. Then height of the tent is 21m. Find the total cost of the tent if the canvas used costs Rs. 12 per metre.

7. The diameter of a garden roller is 1.4 m and it is 2m long. How much area will it cover in 5 revolutions?

8. A rectangular sheet of paper of size 30 cm x 18 cm can be transformed in to a right circular cylinder in two ways –either by rolling the paper along the length or by rolling the paper along the breadth. Find the ratio of the volumes of the two cylinders so formed.

9. An Iron pillar has some part in the form of a right circular cylinder and the remaining in the form of a right circular cone. The radius of the base of each of cone and cylinder is 8 cm .The cylindrical part is 240 cm high and the conical part is 36 cm high. Find the weight of the pillar, if one cu .cm of iron weighs 10 grams.

10. A cylindrical road roller   made of iron is 1 m wide .The inner diameter is 54 cm and thickness of the iron sheet rolled in to the road roller is 9 cm. Find the weight of the roller if 1 cu. cm of iron weighs 8 gm.

11. The difference between outside and inside surfaces of a cylindrical metallic pipe 14 cm long is 44 cm2 .If the pipe is made of 99 cu. cm of metal, find outer and inner radii of the pipe.

12. Water is flowing at the rate of 3km/hr through a circular pipe of 20 cm internal diameter into a circular cistern of diameter 10 cm and depth 2 m. In how much time will the cistern be filled?

13. The cost of painting the total outside surface of a closed cylindrical tank at 50 paise per square decimeter is Rs.198. The height of the tank is 6 times the radius of the base of the tank. Find the volume correct to 2 decimal places.

14. The total surface area of a hollow metal cylinder, open at both ends of external radius 8 cm and height 10 cm is 338 ( sq.cm. Taking r to be inner radius, obtain an equation in r and use it to obtain the thickness of the metal in the cylinder.

15. What length of a solid cylinder 2 cm in diameter must be taken to recast into a hollow cylinder of length 16 cm, external diameter 20 cm and thickness 2.5 mm?

16. In the middle of a rectangular field measuring 30 cm x 20 cm, a well of 7 m diameter and 10 m depth is dug. The earth so removed is evenly spread over the remaining part of the field. Find the height through which the level of the field is raised.

17. Find the weight of a solid cone whose base is of diameter 14 cm and vertical height 51 cm, supposing the material of which it is made weighs 10 grams per cubic cm.

18. Water flows at the rate of 10 m per minute through a cylindrical pipe 5 mm in diameter .How long would it take to fill a conical vessel whose diameter at the base is 40 cm and depth 24 cm?

19. A conical vessel whose internal radius is 5 cm and height 24 cm is full of water. The water is emptied into a cylindrical vessel with internal radius 10 cms. Find the height to which the water rises?

20. A solid wooden toy is in the shape of a right circular cone mounted on a hemisphere. If the radius of the hemisphere is 4.2 cm and the total height of the toy is 10.2 cm, find the volume of the wooden toy.

21. A solid is in the form of a right circular cone mounted on a hemisphere .The radius of the hemisphere is 3.5 cm and the height of the cone is 4 cm. The solid is placed in a cylindrical tub, full of water, in such a way that the whole solid is submerged in water. If the radius of the cylinder is 5 cm and its height is 10.5 cm, find the volume of water left in the cylindrical tub

22. A sphere of diameter 6 cm is dropped in a right circular cylindrical vessel partly filled with water. The diameter of the cylindrical vessel is 12 cm. If the sphere is completely submerged in water, by how much will the level of water rise in the cylindrical vessel?

23. A solid is composed of a cylinder with hemispherical ends. If the whole length of the solid is 108 cm and the diameter of the hemispherical ends is 36 cm, find the cost of polishing the surface of the solid at the rate of 7 paise per sq.cm

24. A solid is in the form of a cylinder with hemi-spherical ends. The total height of the solid is 19 cm and the diameter of the cylinder is 7 cm. Find the volume and total surface area of the solid.

25. A toy is in the shape of a right circular cylinder with a hemisphere on one end and a cone on the other. The height and radius of the cylindrical part are 13 cm and 5 cm respectively .The radii of the hemispherical and conical parts are the same as that of the cylindrical part. Calculate the surface area of the toy if the height of the conical part is 12 cm.

26. The diameter of a copper sphere is 18 cm .The sphere is melted and is drawn into a long wire of uniform cross-section .If the length of the wire is 108m, find its diameter.

27. A cylindrical jar of radius 6 cm contains oil. Iron spheres each of radius 1.5 cm are immersed in the oil. How many spheres are necessary to raise the level of the oil by two centimeters?

28. A vessel in the shape of a cuboid contains some water .If three identical spheres are immersed in the water, the level of water is increased by 2 cm. Determine the radius of any of spheres.

29. A spherical ball of radius 3 cm is melted and recast into 3 spheres .The radii of two of them are 1.5 cm and 2 cm. Find the diameter of the third ball.

30. Find the volume of the largest right circular cone that can be cut out of a cube whose edge is 9 cm.

31. How many spherical lead shots each 4.2 cm in diameter can be obtained from a rectangular solid of lead with dimensions 66 cm, 42 cm and 21 cm.

32. The diameter of a roller 120 cm long, is 84 cm .If it takes 500 complete revolutions to level a play ground, determine the cost of leveling at the rate of 30 paise per sq.m

33. A solid cylinder has a total surface area of 462 sq. cm .Its curved surface area is one-third of its total surface area. Find the volume of the cylinder.

34. The height of a cone is 30 cm. A small cone is cut off at the top by a plane parallel to the base. If its volume be 1/27 of the volume of the given cone, at what height above the base is the section made?

35. Height of a solid cylinder is 10 cm and diameter 8 cm. Two equal conical holes have been made from its both ends. If the diameter of the hole is 6 cm and height 4 cm, find volume of cylinder, volume of one conical hole, and the volume of the remaining solid.

